UMO-150

UNIT MOUNTED FERTILIZER OPENER

SHOWN WITH OPTIONAL NOTCHED BLADE (800249)

Martin=Tij]|

Martin Planter Attachments
Martin Industries LLC
206 Elk Fork Road
.- Elkton, KY 42220
E E Telephone: 270-265-5817
E-Mail: martin@martintill.com
E!- www.martintill.com VERSION 05 01 2020



Use a square or a level tool to make sure that the planter base plate is set parallel to the Planter’s
W-Bracket (The bracket that attaches the planter to the tool bar).

Using four 1/2" X 1 1/2” bolts, attach the Mount to the Planter’s base plate, and torque mounting
nuts to 57 ft-Ibs ( Right Picture).

For CaseIH 1200 series planter, use provided two 1/2” X 3 1/2" Grade 8 bolts and nuts . Torque to
80 ft-lbs ( Left picture).

1/2”X11/2”
Bolts

1/2” X31/2”
Bolts

CU Mount

Shown DU Mount

Shown

The Martin-Till Unit Mounted Fertilizer Opener (UMO 150) allows you to place fertilizer in three dif-
ferent horizontal (offset), and three different vertical (depth), distances from the seed .

The options on STEP 2A determine the vertical distance from the seed (depth).

The options on STEP 2B determine the horizontal distance from the seed (offset).

STEP 2A: UMO 150 DEPTH SETTING OPTIONS
Select one of the following UMO vertical installation positions (A, B, or C)
Position A:
The top bolt passes through the first holes of the mount and the UMO. The bottom bolt passes
through the fifth hole of the mount and the forth hole of the UMO. This position will place the ferti-
lizer 3/4” above seed depth.

Position B:

The top bolt passes through the second hole of the mount and the first hole of the UMO. The bot-
tom bolt passes through the fifth holes of the mount and the third hole of the UMO. This position
will place the fertilizer “even” with seed depth.

Position C:

The top bolt passes through the third hole of the mount and the first hole of the UMO. The bottom
bolt passes through the fifth holes of the mount and the second hole of the UMO. This position will
place the fertilizer 3/4” below seed depth.




Position A
3/4" above seed depth

Position B

Even with seed depth

(Recommended)

Position C

=
whd
a
0
o
°
5
Q
(0]
3
=)
]
a
<
S~
™



STEP 2B: UMO 150 OFFSET SETTING OPTION

Three different offset settings are shown in the pictures. The UMO can be installed to the right side
(Offset 1” from seed furrow), in between (Offset 2” from seed furrow), or to the left side (Offset 3”
from seed furrow) of the mount flanges. Place the UMO-12 spacer bar according to the pictures.

Select one of the following UMO horizontal installation positions (A, B, or C)

UMO in the Left side
Spacer Bar in the middle

UMO in the Middle
Spacer Bar in the Right side

Position A: Offset 1” from seed furrow

*Recommended for fertilizer application rates of
10 GPA and under.

Position B: Offset 2" from seed
furrow

*Recommended for fertilizer application
rates of 10-20 GPA.

UMO in the Right side
Spacer Bar in the middle

NOTE:
*Recommendations based on general rule of
thumb of 1” offset for every ten gallons of fertiliz-

Position C: Offset 3” from seed furrow

er applied per acre.

PP p , o . *Recommended for fertilizer application rates of 20-
*Consult with your agronomist for specific appli- 30 GPA.
cation rate information unique to your operation,

soil properties, and conditions. 3



STEP 2C: FURROW CONTROL LEVER GROUND PRESSURE ADJUSTMENT

SETTING #1.: This configuration provides
maximum ground pressure.

SETTING #2: This configuration provides
medium ground pressure.

SETTING #3: This configuration provides
the least ground pressure.

AOTE: This is the default and recom-
mended position.



UMO150R-900172

UMO150L- 900171

TRIPLE LIP SEAL

BEARING
SPACER BLOCK /‘ —CR14971  BEARING — CACE
-UMO-12 8 (800285) L44643 L44610
00306) —— |[|0 (800284) B
9 HU44 HUB (800283)
ASSEMBLY
FURROW CONTROL (900166) _HU44-F
~UMO-FCBO1R/L
ASSEMBLY 200272
(800280-RH) ( )
-UMO-FCAL00R/L
(900170-RH) 5/16-18 FLANGE

REINFORCEMENT STRAP
—-UMO-FCS02 (800276)

LOCK NUT
—N516FLN (785200)

K 1/4-28 GREASE
o UMO150 BEAM

FURROW CON- . o ZERK — (709001)
TROL STRAP g (900022-RH) (900021
'“MO‘;SM o+ 5/1618 X1 FURROW CTRL
(800275) " CARRIAGE BOLT LEVER

5/8-11 NYLOC NUT - —(E;Zjig)l —UMO-FC101R/L
@ ::5/16-18 X 11/4 FLANGE (800251_LH)
I ' BOLT —B8F516NC114 o' **a, & )
g o2z S g 5/8-11 HEX
5/8 THICK WASHER 5, v ﬁ NUT —N58CHY
(787600) e,

i
3/8-16 X1 %ot \' ® (736600)

CARRIAGE BOLT Sea, I
* []
«_ -—Bsc3sl ~.,.. ([
(782310) 6 ey
A
Q / @\

>
.+ TRANSITION

3/8-16 FLANGE LOCK
NUT —-N38CFL
(785300)

WASHER 5/8-11 JAM
/ AXLE —-UM0-031 ® —UMO-032 NUT —N58CNLT
15” NOTCHED BLADE (800273) (786601)

5/16-18 X11/4
BUTTON HEAD

—UMO-BLDO02 (800249)

/ SCREW
LIQUID FERT. SHOE —B5B516114
\ -UMO-041R/L FOOT STOP (781212)
(900168-RH)
14” (900167-LH) ” (900176-RH)
\ 5/16-18 FLANGE
SMOOTH UMO SPRING RH 1/4 DOUBLE ROLL PIN — LOCK NUT
BLADE —UMO-SPGO1R/L (709003) —N516FLN
-UMO-BLDO1 (800278-RH) (785200)
(800279-LH)
NOTE: UMO-150R SHOWN NOTE: INSTALL THE BLADE WITH
e R DESIGNATES RIGHT HAND PARTS BEVEL FACING HUB.

e L DESIGNATES LEFT HAND PARTS



UMO 150 Hub Preventative Maintenance
The UMO hub is designed to be “flushed out” with lubrication, without damaging the triple lip seal.
To flush the hub, lubricate until fresh grease is visible around the seal.
« In worked ground, lubricate every 20 hours of run time
o In No-Till ground, lubricate every 40 hours of run time
NOTE: Hubs may feel tight when first installed. They will loosen after they "run in”.

UMO 150 Hub Bearing Preload Adjustment
Maintaining proper bearing preload is crucial to bearing life. Monitor and adjust annually.

To adjust:

o Loosen the 5/8" thin lock nut

« Tighten the 5/8” regular nut until you feel zero end play

o Gently back the nut off, leaving .01” - .012" end play

« Hold the 5/8" regular nut in place with a wrench and tighten the 5/8” thin lock nut

NOTE: End play is checked by pulling out on the top of the blade while pushing in on the bottom

5/8" thin lock nut
and 5/8" regular nut r

Grease fitting on
UMO-100

16



artin<Ti[}

The most trusted name in no-till
Established 1991

Martin Industries LLC
206 Elk Fork Road
Elkton, KY 42220

Telephone: 270-265-5817
E-Mail: martin@martintill.com



